1 Calculs poseés

[356+293] [639+283] [178+403]
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42 Calculs posés

[564+98 ] [256+34] [638+248]
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3 Calculs posés

[387+503] [734+187] [564+234]

[937-653 ] [739-467] [ 543-223]
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4 Calculs posés

[728 + 675] [829 + 357] [590 + 839]
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§ cCalculs posés

[2 728+1675] [3829+5357] [2134+7328]

[432-178] [512-409] [624-377]

[2873x7] [4654x3]




G Calculs posés

[9028+3910] [5 928+4490] [1 340+6829]
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[4928x6] [7820x8]




J Calculs posés

[5 543 + 8 087] [1 378 + 1 999] [3 098 + 1 657]

[837-139] [603-432] [521-398]

[7549x6] [4809x5]




8 Calculs posés

[6079+3289] [3344+378] [4098+9728]

) m=)m(n)

[9708x9] [4289x3]




9 calculs posés

[8672+6508] [7512+999] [3018+4500]

)m(=)m(ee)

[2408x8] [8798x5]




